10 Years of Excellence

Szgme'rbda

Spardhaguru India Private Limited

G spardhaguru2022 0 Spardhaguru Current affairs

ﬁ SpardhaGuru

@Spardha.guru ™ www.spardha.guru

PYQ AL Discount

X' Spardhagurul

Vedic

1. The marked price of a piano was X 15000.
At the time of sale, there were successive
discounts of 20%, 10% and 10% given on it.

The selling price was [SSC CGL 2013]
(a) X 9720 (b) 9750
(c) X 9760 (d)X 9780

2. If on a marked price, the difference of
selling prices with a discount of 30% and
two successive discounts of 20% and 10% is
X 72, then the marked price (in X) is

[SSC CGL 2010]
(a) X 3600 (b) 3000
(c) X2500 (d)X 2400

3. A dealer marks his goods 30% above his
cost price and then allows 15% discount on
it. What is the cost price of an article on
which he gains X 84?

[SSC CPO 2010]
(b) X560
(d) 280

(a) X 800
(c)X373.33

4. Piyush marks the price of his article 30%
more than its cost price. If he sells the
article for X780 after allowing a discount of
20%, then what will be the cost price (in X)
of the article?
[Delhi Police Constable 2017]
(b) 700
(d) 750

(a) 600
(c) 680

5. A shopkeeper sells notebooks at the rate
of X 457 each and earns a commission of
4%. He also sells pencil boxes at the rate of
X 80 each and earns a commission of 20%.
How much amount of commission will he
earn in two weeks, if he sells 10 notebooks
and 6 pencil boxes a day?

[SBI PO 2010]
(b) X 1586
(d) X 1596

(a) X 1956
(c) 1496
(e) None of these

6. The printed price of a book;is X 60, but
the seller allows the successive discounts of

20% -and ' 30%. The net sale price is
subjected to a sales.tax of 5%. The net sale
price is [SSC MTS 2013]

(a) X36.28 (b) X 33.60

(c)X36.60 (d) X 35.28

7. A shopkeeper purchased a chair marked
at X600 at two successive discounts of 15%
and 20%, respectively. He spent 28 on
transportation and sold the chair for X 545.

His gain per cent was [SSC CGL 2013]
(a) 25% (b) 30%
(c) 35% (d) 20%

8. If a commission of 10% is given on the
written price of an article, then gain is 20%.
The gain per cent, when the commission is
increased to 20%, will be

[SSC FCI 2012]
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(b) 5%
10
(d)SEA

(a) 6 % %
(c) 8%

9. A shopkeeper lists the price of an article
as X 500. But he gives a certain discount
which allows the buyer to pay X 500 for the
article including 10% sales tax. The rate of

discount is [SSC CPO 2011]
(a) 10% (b) 10 1—11 %
(c)9 ﬁ % (d) 11%

10. A dealer buys an old cooler listed at X
950 and gets successive discounts of 20%
and 10%. He spends X 66 on painting.and
then he sells the cooler at a profit of 25%.
Find its selling price.

[SSC MTS 2014]
(a) X 937.50 (b) X 935
(c) X940 (d) X936.50

11. The marked price of a clock is 3200. It
is to be sold at X 2448 at two successive
discounts. If the first discount is 10%, then
the second discount is

[SSC CGL 2010]
(b) 10%
(d) 20%

(a) 5%
(c) 15%

12. If the price of an item is increased by
30% and then two successive discounts of
10% and 10% are allowed. At last the price
of an item is [SSC CGL 2011]
(a) increased by 10%

(b) increased by 5.3%

(c) decreased by 3%

(d) decreased by 5.3%

13. What is the maximum percentage
discount (approximately) that a merchant
can offer on his marked price, so that he
ends up selling at no profit or loss, if he
initially-marked ha goodsup by 40%?

(a) 60% (b) 28.5%

(c) 33.5% (d) No discount

14. A shopkeeper allows a commission of
23% on his advertised price and still makes
a profit of 10%. If he gains X 56 on one item,
then his advertised price of the item (in X)

is (SSC CGL 2011)
(a) 820 (b) 780
(c) 790 (d) 800

15 After allowing a discount of 20% on
marked price, Kishore makes a profit of
12%. What percentage is the marked price

above the cost price?  (RRB NTPC 2016)
(a) 40% (b) 32%
(c) 25% (d) 8%
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16. The price of a bicycle was marked by a
trader at X 1000. He sold the bicycle
allowing successive discounts of 20%, 10%
and 5%. the trader gained 14% then the
cost price of bicycle (in X) was

[SSC MTS 2017]
(a) 790 (b) 600
(c) 510 (d) 560

17. A retailer offers the following discount
schemes for buyers on an article.

l. Two successive discount of 10%.

Il. A discount of 12% followed by a discount
of 8%.

l1l. Successive discounts.of 15% and 5%.

IV. A discount of 20%.

The selling price will be minimum under the
scheme [SSC CGL 2012]
(a) | (b) Il

(c) (d) Iv
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